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1 a)x=1 b) x =1 ¢) x=4

2 adu=-3 b)u=2 ou=-5 dw=2

a) x=7; Probe: (7+3)(7-6)=72-39; 10=10

b) x=-2; Probe: (-2-2)(-2+3)=(-2)2-8
—4=-4

¢) x=3; Probe: 3-5)(3-9)=3%+3; 12=12

d) X=51;

Probe: (2 - 51+ 2)(51 - 9)=(51-3)(2 - 51 =11

4368 = 4368
e) y=-3;
2 2 2
Probe: 2((-2)2+9) = (-2 +12)(2(-3) +3]
170 _ 170
9 9
f) x=3; Probe: B-4)3+11)=3(3-12) +13
~14 = -14
7 ayn=-2 b) n=-1 & n=12
d) n=3 e n=2

2
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7 a) (x+6)-4=16x
4x + 24 =16X
24 =12x
X=2
Moritz hat in der zweiten Zeile das Distributiv-
gesetz (Verteilungsgesetz) nicht angewendet.

10a) m=1 b) m =27 ) n=4

Ta)x=-2 b)t=-6 ¢) x=-6



